MULTIPLICATION - DAY 4

Consolidation of multiplication
and problem solving



Below are a range of multiplication problems for you to solve.

TASK 1
Multiplying 4 digit by 1 digit numbers problems

TASK 2
Multiples problems

TASK 3
Multiplying 3 digit number by 2 digit number problems




TASK 1

1. Ivan the bank manager has forgotten the code to enter the underground vavult at his
bank. He remembers that the code was the result of multiplying a 4-digit number by 3.

The 4-digit number Ivan multiplied was made from the digits 0-9 where each digit was
only used once. The code was a 4-digit number, and one of the digits was repeated

twice within the code.

Explore what the 4-digit code could be.



2. Lovisa, Alfie and Rehan are playing a game. They are multiplying their 4-digit
numbers by é to see whose answer is closest to 10,000. They each give clues for their
4-digit numbers.
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Investigate what each of their numbers could be and who could have won the game.




ANSWERS

1. lvan the bank manager has forgotten the code to enter the underground vault at his
bank. He remembers that the code was the result of multiplying a 4-digit number by 3.

The 4-digit number Ivan multiplied was made from the digits 0-9 where each digit was
only used once. The code was a 4-digit number, and one of the digits was repeated

twice within the code.

Explore what the 4-digit code could be.
Various answers, for example: 1,248 x 3 = 3,744, which covuld be the code because the

digit 4 is repeated twice. .




ANSWERS

2. Lovisqa, Alfie and Rehan are playing a game. They are multiplying their 4-digit
numbers by 6 to see whose answer is closest to 10,000. They each give clues for their
4-digit numbers.
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All of the digits in my
number are even, and one
digit is 0. My digit sum is
less than Louisa's.

h
~
H My number has the highest
y 3 digit sum. Two of my digits
-
N

Alfie

are 0s.

vy

Rehan

Investigate what each of their numbers could be and who could have won the game.
Various answers, for example: Lovisa covuld have 1,270 x 6 = 7,620; Alfie could have
2,220 x 6 = 13,121; Rehan could have 5,600 x 6 = 33,600. In this case, Alfie would win. i




TASK 2

1. Look at the numbers below.

4) (5]

Which numbers in the grid below are multiples of all the numbers above?

Investigate how your answer might change if 5 was swapped with 6, 7, 8 or 9.




TASK 2

2. Harriet has these digit cards:

HEWEEEE

Harriet also has the list of numbers below and their lowest common multiples (LCM).
She needs to add a digit card to each list so that the lowest common multiples remain
unchanged. Investigate which digit cards she covuld use.

ofofol ey
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What is the lowest common multiple of the digit cards Harriet does not use?




ANSWERS

1. Look at the numbers below.

4) (5]

Which numbers in the grid below are multiples of all the numbers above?

Investigate how your answer might change if 5 was swapped with 6, 7, 8 or 9.
Various answers, for example: If 6 was used, 408, 420, 432, 444, 456, 4568, 480 and 492
would be circled on the grid. .




ANSWERS

2. Harriet has these digit cards:

HEWEEEE

Harriet also has the list of numbers below and their lowest common multiples (LCM).
She needs to add a digit card to each list so that the lowest common multiples remain

unchanged. Investigate which digit cards she covuld use.
Various answers, for example:

() () () (o) ome(e]
)G () eme(ze)
[J () (] (] reme(ozo)

What is the lowest common mulfiple of the digit cards Harriet does not use?

The unused digit cards would be 2, 5, 7 and 8. Their lowest common multiple is 280.
DF




TASK 3

1. The school council are organising a disco and want to advertise the event on a
banner on the school fence, which has an area of 30,000cm?®. The headteacher has
told them that they need to leave 75cm free on one side for some road safety posters.
They are trying to decide which banner is the largest they can buy. What could the
dimensions of the fence be?
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Which is the largest banner they can buy? Which other options can they buy?




TASK 3

2. Arrange the digit cards to make a calculation where the answer matches all four

statements below.
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ANSWERS

1. The school council are organising a disco and want to advertise the event on a
banner on the school fence, which has an area of 30,000cm?. The headteacher has
told them that they need to leave 75cm free on one side for some road safety posters.
They are frying to decide which banner is the largest they can buy. What covuld the
dimensions of the fence be? Various answers, for example: 300cm x 100cm;
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Which is the largest banner they can buy? Which other options can they buy?
Various answers, for example:
If fence is 300cm x 100cm, option A is the only one that will fit. If fence is 400cm x
75cm, options A, B, C and D will fit (D is the largest). If fence is 500cm x 60cm, options
A and B will fit (B is the largest). If fence is 600 x 50cm, only option A will fit.




ANSWERS

2. Arrange the digit cards to make a calculation where the answer matches all four
statements below.
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Various possible answers, for example: 418 x 36 = 15,048.




